L—Ai55 fEER RfE—&

(ESHIRBOBELE, PIE. R, RE, AZLEREFERC

* 3 b—A —fiiik HEFE (22:15)
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#. i ® @ ® @ ® ® @ [ x o3 HE HH HE NV HE BE LAY
ARz 14 0 0 3 3 2 2 3 10 0.0 0.0 21.4| 0 3.42 3.513| 3.47 5.14 3.545
3810 (MN—%)| 10 0 0 2 3 1 1 3 0 0 0.0 0.0 200, 0| 3.42 3513 3.45 500  3.535
B-122 (MNGE) 0
(RDA—#%) 4 0 0 1 0 1 1 0 1 0 0.0 0.0 25.0, 0| 3.51 3.561| 3.52 550  3.570
1 EH K| 0| (ofew) o
e 2 0 1 0 0 O O o 1 o0 0.0 50.0 50.0/ 0| 3.50 3.526| 3.50 5.00 3.555
fRix 38HA {RERIE 3 0 0 O 1 O 1 0 1 O 0.0 0.0 0.0/ 0| 3.45 3.526| 3.49 6.00 3.548
27% PEZIN 8 0 1 0 0 O 1 2 4 O 0.0 12.5 12.5| 0| 3.44 3.510| 3.48 6.75 3.558
LB 4 0 1 0 O O 1 2 0 O 0.0 25.0 25.00 0] 3.46 3.526| 3.49 5.50 3.548
ARz 70 8 51011 91114 2 0| 114 18.5 32.8 0| 3.39 3.445 3.44 4.52 3.520
1906 (MN—%)| 42 3 2 2 9 9 9 8 0 0 7.1 11.9 16.6/ 0| 3.39  3.445| 342 485  3.505
B-70 (MNGE) 0
(zofti—#%) 28 5 3 8 2 0 2 6 2 0 17.8 28.5 57.1| 0| 3.43  3.500, 3.46 4.03  3.542
A 5Ic ¥ 10 (zoftcE)| o
na 12 0 1 0 0 2 3 4 2 O 0.0 8.3 8.3 0/ 3.40 3.494| 3.43 6.16 3.515
fRizx 19HA R 0
637% PEZYN 4 0 0 2 2 1 1 5 3 O 0.0 0.0 14.2) 0| 3.43 3.506| 3.44 6.00 3.527
LBz 10 0 0 1 1 2 6 O 0 O 0.0 0.0 10.0) 0| 3.42 3.481| 3.44 5.30 3.518
ARis 53 2 9 9 8 9 6 6 4 O 3.7 20.7 37.7 0| 3.34 3.426 3.41 4.41 3.507
2904 (MN—%)| 29 1 7 2 7 6 3 3 0 0 3.4 27.5 34.4| 0| 3.34 3426 339 406  3.479
B-69 (MNGH#) 0
(oMti—#%) 24 1 2 7 1 3 3 3 4 0 4.1 12.5 41.6| 0| 3.40  3.498| 3.45 4.83  3.540
<l HLE &F 20 (cofc) o
e S 0 0 O 0 1 3 3 2 O 0.0 0.0 0.0/ 0| 3.40 3.505| 3.42 6.66 3.522
frix 29HA FREAIG 9 0 1 0 1 2 1 2 2 0 0.0 11.1 11.1| 0| 3.40 3.481| 3.41 5.77 3.507
457% JEAR 17 1 0 4 0 2 5 5 0 O 5.8 5.8 29.4, 0| 3.35 3.443| 3.39 5.17 3.490
LB 7 1 0 1 0 2 3 0 0 O 14.2 14.2 28.5| 0| 3.37 3.465| 3.42 4.57 3.508
ARis 72 9 8 7 7 71413 7 0| 125 23.6 33.3 0| 3.35 3.423 3.42 4.72 3.504
3702 (MN—%)| 44 3 7 6 5 5 12 6 0 0 6.8 22.7 36.3] 0| 3.35  3.423] 3.40 4.40  3.482
B-29 (MNGH#) 0
(zof—#%)) 26 5 1 1 2 2 1 7 7 0 19.2 23.0 269/ 0| 3.37  3.490| 3.45 534  3.541
N AE BT 20 (oftes) 2 1 0 o0 0o 1 0 0 50.0 50.0 50.00 0| 3.42  3.497| 3.43 350  3.511
e 13 0 2 3 1 0 0.0 7.6 7.6 0| 3.36 3.454| 3.40 5.53 3.490
frix 37HA R 0
23i% JEAR 17 0 1 1 6 5 1 2 0 0.0 5.8 11.7] 0| 3.36 3.447| 3.39 5.41 3.496
LLIB& 13 0 2 0 2 5 0 O 0.0 15.3 23.00 0] 3.36 3.452| 3.40 5.23 3.478
ARis 84 11 12 18 9111011 2 0| 13.0 27.3 48.8 0| 3.36 3.420 3.41 3.96 3.500
1930 (MN—%)| 46 4 7 9 8 9 5 4 0 O 8.6 23.9 43.4| 0| 3.36  3.420 3.39 3.91 3.484
A-168 (MNGH#) 0
(of—#%) 33 7 4 8 1 2 4 6 1 0 21.2 33.3 57.5| 0| 3.39 3452 3.44 384  3.526
5| JKIEG IE— |30 (zoftcH) 5 0 1 1 0 0 1 1 1 0 0.0 20.0 40.0/ 0| 3.37  3.458| 3.39 520  3.487
e 6 0 3 0 1 O 1 0 1 O 0.0 50.0 50.0/ 0| 3.38 3.446| 3.39 4.00 3.482
fRizx 19HA {RERIZ 5 3 0 0 0 1 1 0 O O 60.0 60.0 60.0/ 0| 3.36 3.442| 3.39 2.80 3.465
617% PEZYN 17 1 0 3 2 2 6 3 0 O 5.8 5.8 23.5| 0] 3.36 3.460, 3.40 5.00 3.493
LLIB& 15 2 2 2 5 4 0 0 0 O 13.3 26.6 40.0/ 0| 3.37 3.429| 3.39 3.46 3.465
ARi5 78 13 19 813 811 5 1 1 16.4 40.5 50.6 0 3.32 3.401| 3.38 3.53 3.466
2409 (MN—%)| 44 9 14 6 6 3 5 1 0 0 20.4 52.2 65.9| 0| 3.32  3.401| 3.36 297  3.439
A-125 (MNGH) 0
(zofti—#%) 27 3 5 2 4 5 2 0 0 11.1 29.6 370, 0| 335 3437 3.42 396  3.504
BMARKOM 40 (ofte) 7 1 0o 0o 1 1 1 11 12.5 12.5 125 0| 3.32  3.426] 339 542  3.484
na 12 1 1 2 1 2 1 2 0 8.3 16.6 33.3] 0] 3.32 3.429| 3.37 4.91 3.455
ERix 24HA RERIZ 0
53i% PEZYN 11 o 2 2 1 1 2 2 1 1 0.0 16.6 33.3] 0] 3.37 3.430, 3.39 4.81 3.469
L= 13 3 3 0 2 3 1 0 1 1 21.4 42.8 42.8/ 0| 3.31 3.389| 3.36 3.53 3.429
ARis 56 9 31310 9 5 4 3 1 15.7 21.0 43.8 0 3.28 3.399| 3.35 3.94 3.465
3502 (MN—%)) 29 5 1 8 4 6 2 3 0 1 16.6 20.0 46.6| 0| 3.28  3.399| 3.33 3.79  3.443
A-144 (MNGH) 0
(zofti—#%) 19 2 2 5 5 2 1 1 1 0 10.5 21.0 473 0| 3.35 3.460/ 3.38 3.78  3.498
7 Jbj B 40 (oftew) 8 2 0 0 1 1 2 0 2 O 25.0 25.0 25.0, 0| 3.31 3.428| 3.35 4.87  3.465
na 11 0 1 2 3 3 1 0 1 O 0.0 9.0 27.2) 0] 3.28 3.401| 3.32 4.45 3.434
fRizx 35HA RERIZ 17 1 0 2 1 6 3 3 1 0 5.8 58 17.6| 0| 3.28 3.370| 3.33 5.17 3.446
295% PEZYN 4 0 0 O 1 0 2 0 1 0O 0.0 0.0 0.0/ 0| 3.32 3.418| 3.33 6.00 3.436
L= 20 3 6 4 3 3 1 0 0 O 15.0 45.0 65.00 0| 3.27 3.382| 3.31 3.00 3.413
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# 7. 2T 5. R, it # - ST 25 3E @B BE iy
R i # ©®© @ ®@ @ ® ® @ B £ Xt fmE LAYV BE BE EAY

AR 3 2 0 01 0 O0O0O0 O 666 66,6 66,6 0 2.00

3810 MN—#) 2 1 0 0 1t 0 0 0 0 0 50.0 50.0 50.0, 0 2.50
B-122 (MNG#) 0

(ZOf—H%) 1 1 0 0 0O 0O O O O 0 1000 1000  100.0/ O 1.00
|| EEH B 0| omem) o

nme 11 0 0 0 0O 0O O O 0 100.0 100.0 100.00 O 1.00

gizx 38HA BRI 1 0 0 0 1 0 0O 0O 0 O 0.0 0.0 0.0 O 4.00

2771% PEZIN 3 0 0 0 3 0 0 0 0 O 0.0 0.0 0.0 O 4.00

LLIE% 4 0 2 0 0 1 0 1 0 O 0.0 50.0 50.0/ O 4.00

AR 14 1 0 2 2 4 4 1 0O 7.1 7.1 214 O 4.71

1906 MN—#) 9 0 0 1 2 2 3 1 0 0 0.0 0.0 11.1] 0 5.11
B-70 (MNG#) 0

(ZOf—H%) 5 1 0 1 0 2 1 0 0 O 20.0 20.0 40.0, 0 4.00
A 5Ic ¥ 10 (zoftcE)| o
ne 0
BRIz 19HH RIS 0

637% PETIN 4 1 1 1 0 0 1 0 O O 25.0 50.0 75.00 0 3.00

LB 7 0 0 2 1 0 4 0 0 O 0.0 0.0 28,5/ 0 4.85

i 12 3 2 0 4 01 2 0 0 250 41.6 416 O 3.58

2904 MN—#) 6 2 1 0 2 0 0 1 0 0 33.3 50.0 50.0, 0 3.16
B-69 (MNG#)| 0

(zoft—#%) 6 1 1 0 2 0 1 1 0 O 16.6 33.3 333 0 4.00
<l HLE &F 20 (cofc) o

ne 2 0 0 01 0 0 1 0 O 0.0 0.0 0.0 O 5.50

B 29 R8I 2 1.0 01 0 0 0 O 0 500 500 500 O 2.50

457% PEZIN 3 2 0 0 1 0 0 O O O 66.6 66.6 66.6) O 2.00

LB 7 2 2 0 1 1 1 0 0 O 28.5 57.1 57.1] O 3.00

ARt 16 0 2 4 3 6 0 1 0 O 0.0 125 375 O 4.06

3702 (MN—#%) 12 0 2 4 2 4 0 0 0 O 0.0 16.6 50.0, 0 3.66
B-29 (MNG#)| 0

(zoft—#%)| 4 0 0 0 1 2 0 1 0 O 0.0 0.0 00 0 5.25
‘N BIEEL 20 cotes) o

ne 3 01 0 0 1 1 0 O O 0.0 33.3 33.3) O 4.33
BRI 37HA RIS 0

23i% REZIN 1 0 0 0 0 0 0 1 0 O 0.0 0.0 0.0 O 7.00

LLIE5 5 0 1.1 0 3 0 O O O 0.0 20.0 40.00 O 4.00

AR 14 1 3 2 2 2 2 0 2 O 7.1 28.5 428 0 4.21

1930 (MN—#) 7 1 1 2 2 1 0 0 0 O 14.2 28.5 571 0 3.14
A-168 (MNGE) 0

(oft—#%)| 4 0 2 0 0 0O 1 0 1 O 0.0 50.0 50.0, 0 4.50

5| JKIEG IE— |30 (zoftcH) 3 0 1 0.0 0.0 0.0 0 6.33
ne 0
ERizx 1958 FRERIG 0

61% AR 6 3 2 1 0 0 0 0 O 1] 428 714 857 0 1.66

LLIE5 4 0 1 1 1 0 O 1 0 O 0.0 25.0 50.0/ O 4.00

AR 19 6 5 4 2 01 0 1 0 315 578 789 1 2.63

2409 (MN—#) 10 4 2 2 2 0 0 0 0 0 40.0 60.0 80.0| 1 2.20
A-125 (MNGE) 0

(ZOM—H%) 5 2 0 2 0 0 1t 0 0 O 40.0 40.0 80.0/ © 2.80

AR O 40| oftes) 4 o0 0 0 0 0 0 0.0 75.0 75.0 0 3.50

na 2 1 0 1 0 0 0 O 50.0 50.0 50.0/ O 2.50
BRix 2454 REAI 0

53i% AR 1 0 0 01 0 O O O O 0.0 0.0 0.0 O 4.00

L5 6 3 1 1 0 1 0 0 0 O 50.0 66.6 83.3] O 2.16

i 15 0 3 31 5 3 00O 0.0 20.0 40.0 O 4.13

3502 (MN—#%) 9 0 2 1 1 3 2 0 0 O 0.0 22.2 333 0 4.22
A-144 (MNGH#) 0
(Bt —Hi%) 0

7 JbBR B 40 (ofte)| 6 o0 2 0 1 0 0 0 0.0 16.6 50.0, 0 4.00

mea 1 1 0 0 0 0 0 0 O 0.0 100.0 100.00 O 2.00

BRix 35HA REAI 11 0 0 0 0O O O O 1000 100.0 100.0 O 1.00
29i% R 0

LLIE5 8 1 2 3 00 0 0 O 12.5 37.5 62.5| 0 2.87
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BRES. 2ES L—R 155 AR
B V. BF4. B ¥ = 25 iy
R, £in ® @ ® @ ® ® @ B g e EH HE LAY HE BE LAY
i i1 0 0 01 0O OOPO 0.0 0.0 0.0 O 4.00
3810 (MN—)| O
B-122 (MNGH#)| 0
(ZOf—H%) 1 0 0 0 1 0 0 0 0 O 0.0 0.0 00 0 4.00
1 BEF BHEK| 0| otewm) o
ne 0
ERix 38HH RIS 0
2771% PEZIN i1 0 0 0 1 0 0 0O 0 O 0.0 0.0 0.0 O 4.00
LLIE% 1 0 0 0 0 0 0O 1 0 O 0.0 0.0 0.0 O 7.00
BRI 9 00 0122400 00 00 00O 6.00
1906 MN—#) 6 0 0 0 0O 1 1 4 0 0 0.0 0.0 00 0 6.50
B-70 (MNG#) 0
(oft—#%)) 3 0 0 0 1 1 1 0 0 O 0.0 0.0 00 0 5.00
A 5Ic ¥ 10 (zoftcE)| o
nme 2 0 0 1 0 0 0 1 0 O 0.0 0.0 50.0/ O 5.00
ERIx 19HH RIS 0
637% PETIN 3 0 0 0 0 0O 3 0 0 O 0.0 0.0 0.0 O 6.00
Iz 0
AR 10 0 1 1 2 1 3 2 0 O 0.0 10.0 20.0 O 5.00
2904 (MN—#) 8 0 1 1 2 1 2 1 0 0 0.0 12.5 250, 0 4.62
B-69 (MNGE) 0
(oft—#%) 2 0 0 0 0 0O 1 1 0 O 0.0 0.0 00 0 6.50
<l HLE &F 20 (cofc) o
ne 2 0 0 01 0 0 1 0 O 0.0 0.0 0.0 O 5.50
Hrizx 29HH FRERIG 0
457% AR 0
LB 1 0 0 1 0 0 0 0O 0 O 0.0 0.0 100.0/ O 3.00
BRI 6 1 1 1101010 166 333 500 O 4.00
3702 (MN—#) 4 1 0 1 1 0 1 0 0 O 25.0 25.0 50.0, 0 3.50
B-29 (MNGH#)| 0
(oft—#%)) 2 0 1 0 0 O 0O 0 1 O 0.0 50.0 50.0, 0 5.00
‘N BIEEL 20 cotes) o
ne 1 0 0 0 0 1 0 O O O 0.0 0.0 0.0 O 5.00
ARt 37HA RIS 0
23i% REZIN 11 0 0 0O O O O O O 100.0 100.0 100.00 O 1.00
LLIE5 2 0 0 01 0 1 0 O O 0.0 0.0 0.0 O 5.00
AR 12 3 2 1 3 0 2 1 0 0 250 41.6 500 O 3.41
1930 (MN—#) 8 1 1 1 2 0 2 1 0 O 12.5 25.0 375/ 0 4.12
A-168 (MNGE) 0
(oft—h%)) 2 1 1 0 0 O O 0 0 O 50.0  100.0  100.0| 0 1.50
5| JKIEG IE— |30 (zoftcH) 2 1 0 0 0 50.0 50.0 50.0 © 2.50
ne 2 0 0 0 O 1 0 0 0.0 0.0 0.0 5.50
ERizx 1958 FRERIG 0
61 REZIN 2 0 1 0 0 0 1 0 0 O 0.0 50.0 50.0/ O 4.00
LB 0
ARz 9 1 1 142000 0 111 222 333/ 0 3.55
2409 (MN—1##) 5 1 1 1 1 1 0 0 0 0 20.0 40.0 60.0/ © 3.00
A-125 (MNGE) 0
(ZOM—H%) 1 0 0 0 0 0 0 0 0.0 0.0 00 0 4.00
AR OM 40 (=oftc) 3 o o0 o0 1 0 0 0 0 0.0 0.0 00/ 0 4.33
na 1 0 0 0 1 0 O O O 0.0 0.0 0.0 O 4.00
BRix 2454 fRZIE 0
53i% REZIN 311 0 0 1 0 0 0 O 33.3 66.6 66.6) O 2.66
L5 1 0 0 1 0 0 O O O O 0.0 0.0 100.00 O 3.00
AR 3 1.1 00100 0 O 333 66,6 666 0 2.66
3502 (MN—#%) 3 1 1 0 0 1 0 0 0 O 33.3 66.6 66.6| 0 2.66
A-144 (MNGH) 0
(Bt —Hi%) 0
7| kIR B 40 (eoftem) o
mea 31 0 1 1 0 O O O O 33.3 33.3 66.6) O 2.66
BRix 35HA FRERIG 0
29i% R 0
LB 2 0 1 1 0 0 0 0 0 O 0.0 50.0 100.00 O 2.50
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